
CAT Exam 2024 

GK MCQ Test 3 

Q.1. Tata Group, India's largest conglomerate, acquired which nationalized airline in 

2022? 

A. Air India 

B. SpiceJet 

C. IndiGo 

D. Jet Airways 

Q.2. Which Indian film received the 'Best Film Award' at the UK Asian Film Festival-

2023? 

A. Pathaan 

B. Baahubali 2 The Conclusion 

C. Bhagwan Bharose 

D. RRR 

Q.3. What instrument Bharat ratana Ravi Shankar is famous for? 

A. Sitar 

B. Tabla 

C. Flute 

D. Harmonium 

Q.4. The highest civilian award of India: 

A. Padmashri 

B. Veer Chakra 

C. Bharat Ratna 

D. Bharat Bhushan 

Q.5. Which article of the Indian Constitution provides for the abolition of 

untouchability? 

A. Article 15 

B. Article 17 

 



C. Article 21 

D. Article 32 

Q.6. Which brand is associated with the tagline "Good Food, Good Life"? 

A. Nestlé 

B. Coca-Cola 

C. PepsiCo 

D. Kellogg's 

Q.7. Which dance form is known for its energetic and vigorous movements, often 

performed in groups, with the extensive use of footwork and hand gestures? 

A. Kathak 

B. Sattriya 

C. Kathakali 

D. Bhangra 

Q.8. In judo, what color belt is typically awarded to a beginner? 

A. Cocoa 

B. White 

C. Blue 

D. Green 

Q.9. What does PVGT stands for in Pradhan Mantri PVTG Mission? 

A. Particularly Vulnerable Tribunal Groups 

B. Particularly Vulnerable Tribune Groups 

C. Particularly Vulnerable Tribal Groups 

D. Particularly Vulnerable Tribal Grouping 

Q.10. Who is known as "the first empire builder of Indian history"? 

A. Kalashoka 

B. Mahapadma 

C. Shishunaga 

D. Nag-Dasak 



Answer Key 

1. (A), 2. (D), 3. (A), 4. (C), 5. (B), 6. (A), 7. (D), 8. (B), 9. (C), 10. (B)  

Q1: Explanation 

Option 1 is the correct answer 

Q2: Explanation 

Option 4 is the correct answer. 

Q3: Explanation 

Option 1 is the correct answer. 

Q4: Explanation 

Option 3 is the correct answer. 

Q5: Explanation 

Option 2 is the correct answer. 

Q6: Explanation 

Option 1 is the correct answer.  

Q7: Explanation 

Option 4 is the correct answer. 

Q8: Explanation 

Option 2 is the correct answer. 

Q9: Explanation 

Option 3 is the correct answer. 

Q10: Explanation 

Option 2 is the correct answer. 


